
1. Convert the binary number 0.1012 to decimal number.

2. 2 Convert the decimal number 0.6310 to a binary number with the precision of 4 bits to the right of the radix point.


3. Convert the octal number 467.013 to decimal number.

4. Simplify as far as possible the following expression using Boolean algebra:

a. AC’D + AD

b. (A+BC’) (A’B’+C)

5. Write the following expression in the normal product-of-sum form:
Σ(0,2,4,8,10,12)
and draw the schematic diagram implementing the function by using AND- and OR-gates.

6. Implement the EXOR-function by using only 2-input NAND-gates.
